dB-killer n.52B
P/N 308437801

S.S. Bracket
Muffler P/N 3015260501
P/N 3014124481U

2x Flange Nuts M8
Carbon Clamp FM5 P/N 200298
P/N 307659501

/°

e
g
s
s
s

s
s
s
H 1

°/

1 stock washer]
t' Allen Screw M8X30

P/N 202491 2x Button Screws
M5X12
P/N 201031
6/ 180 S.S. Washer
./ | 15% 5
5 P/N 406580
AE.50 Carbon Heat Shield
P/N 0815401001
Alu Spacer \\
1027 28,5 n11 \\
P/N 204321 \
Allen Screw o
M8X20 #
P/N 200722
Short Spring
P/N 303949001
S.S. Pipe 1442
P/N 3014424201

S.S. Clamp @43
welded stand
P/N 300043534

ART. 14424EU

2x Fast Nuts M5

P/N 204555
DUCATI MONSTER 937 4 Gaskels
(also fits 35kW version) P/N 200371

SLIP-ON LV PRO STAINLESS STEEL



